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components of fluid power system,

Define Pascat's law and q,g-}yp'tft following prob
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Find Fz.and Sz.
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2a.

3a.
b.
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OR
With the help of neat sketgh',bXplain
(i) Suction line filter ,. " (ii) Pressure line,filtei..
Write a note on the follo#ing 
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(i)O-Rings '':
(ii) Piston Cup Rinls . 
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(iii) Heat Exch4i1g6r. :,,,,,,: '.::t.' ' 
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dure-2

With the help of neat sketch 9xp!6iri Intemal Gear Puqp. (08 Marks)

A hydraulic pump has displacement volume of 90;m3 and delivers 82 lprn at 1000 rpm and

7 MPa.'lf the i/p lorque delivered is 102.N--gn. Find Volumetric efficiency, Mechanical
efficiency, overall efficiency and theoretical"0oiqile required to operate the pump. (08 I\'larks)

. ... )',i:|,, oR
With the help of q,ehtobketclr explaip*"fu#............,hioning of hydraulic cylinders. (08 Marks)

A hydraulic- rno.tpr has 100 cr4{'.yolumetric displacement. If it has a pressure rating of
140 Lars arid;lre.cdives oil from a (ifft m3/s theoretical flow rate pump. Find
(i) Speed "'(ii) Theoretical tcirque (iii) Theoretical power. (08Marks)

Module-3
5 a. With the help of neat stdtbh exptain6ffiT'pressure relief valve. (08 Marks)

b. With the help of nept circuit explain sequencing of cylinders in a hydraulic systern.
(08 Marks)
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Note: Answer any FIVE Jull questioni'chiosing ONE full questionfrom euch module.
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With the help of sketch explain!!e components
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:"':: 'Max. Marks: 80

(08 Marks)

(08 Marks)

(06 Marks)

(03 Marks)
(03 Marks)
(04 l\{arks)



6a.

b.

7a.
b.

8a.
b.

9a.
b.

l5ME72

(07 Marks)
(09 Marks)

(0E Marks)
(08 Marks)

(08 Marks)
(0E Marks)

What are the advantages , disad

With thehelp ofneat sketclr e

''"n'*-n '' Mod*leliil
with the help.oGne'it circuit explain OR S6-Je'$stem'

wi;il ;-h; nrii.;f n"rt circuit exilain coodirthted motion control system.
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